Y17

EEmanhA :
AKL ERTCE AEAIE RFERAREFIRTHZES -
HAKESEEAIEIRIEE - £EKER - 51k - ZE2RIREREVRA £O]
KIEIEMBLERA -
o{ERBENEnAI N TEALK -

REEAMEMIEANE - HREAZREERITBNDOBU/NEAES -
HRBEARTERA - FISARERSZFLINESRKEARYEZZFAMS
R - EEEMFE - ERCEARAIMIIA - FEREIEAFL A
INBEERLBERYHING -

MEME : P#l#R+ - C1008/C1010 {Khix+ &
TKERE : =ERH - F5EH RoHS
2R RXEE - SHRBRIEBRRERERET



AKL ERICEATRAINE #5318 R TR (mm)

7= anfe) 5% (T €M) BT REHE ARAR EIIME EHREE #BR BEINE ARERE
AKL2-M4-2.0 | M4X0.71SO |[05~20/6.75~6.85| 991 0.76 11.7 6.75 7.75
AKL2-M5-3.3 | M5X0.8I1SO (05~33| 76~7.7 10.54 0.76 13.1 7.55 8.00
AKL2-M6-4.2 | M6X1.01SO |0.7~4.2/100~10.1| 127 0.76 15.75 9.90 9.65
AKL2-M8-3.8 | M8X1.251SO (0.7 ~3.8|135~136| 174 0.89 18.65 | 13.45 11.94
AKL2-M10-3.8 | M10X1.5I1SO (0.7 ~3.8|135~136| 174 0.89 18.65 | 13.45 11.94
E _
ol GEEERE
1
= |
O e
m =
= v
1\
P TF-HE RS
& E
By L
N ;}\
] Y | ——
l [€ )




